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gpd;tUk; tpdhf;fSf;F tpil jUf. 

1.xd;gjhk; jpUKiwAs; mlq;Fgit vit? 

2.jpUtpirg;gh ghbNahu; vj;jid Ngu;? mtu;fspd; ngau;fisj; 
jUf. 

3.jpUtpirg;gh vd;Dk; njhlupd; nghUs; ahJ? 

4.‘Vf ehafid…’ vd;w ghlypd; gz;> jyk; vd;gtw;iwj; jUf. 

5.,g; ghlypy; ,iwtid tpspj;Jg;ghba njhlu;fisj; jUf. 

6.‘jpUg;gy;yhz;L ahuhy; ghlg;ngw;wJ? 

7.‘jpUg;gy;yhz;L ghlg;gl;l re;ju;g;gk; ahJ? 

8.jpy;iyapy; ahu; mfy Ntz;Lk;>ahu; tu Ntz;Lk; vd;W 
Nre;jdhu; ghLfpwhu;? 

9.,g;ghlypy; ,iwtdJ ,ay;Gfshff; fhl;lg;gl;Ls;sit ahit? 

10.gpd;tUk; ghliy vOjp jyk;> nghUs; vd;gtw;iwj; jUf. 

 ‘kpz;L kdj;jtu; Nghkpd;fs;……’  

 


